Final Exam; F4360; 12:30 Class; Fall, 1998



Name ______________________________

1.  Given our discussion, why would a bonus system based on EVA lead to a better resolution of stockholder/manager conflicts than a bonus system based on the market share for the firm’s products?

2.  Suppose you suspect that Christmas In The 90’s Inc. (a store that sells special hot-weather Christmas clothing) has too much debt in its capital structure.  How would you go about determining whether or not this is the case?

3. Santa Skiers Inc. (a company that supplies downhill and cross-country skiers dressed up as Santa to parties) has recently decided that it must invest in a ski-boat in order to have any business during the hot weather we are expected to have through Christmas.  The boat and facilities would cost $250,000 to purchase.  A total of $150,000 would be paid today and due to a no-interest loan on the boat itself, additional payments of $50,000 will be made two months from today and another payment of $50,000 will be made three months from today.  Since Santa Skiers would be able to lease out the boat during the non-Christmas season to ski-shows, Santa Skiers estimates that the net cash flow would be $3400 per month beginning one month from today and continuing through 12 years from today (the life of the boat).  The beta of Santa Skiers’ existing assets is 0.8 and of the new boat and facilities will be 1.2.  The new boat and facilities will represent 30% of Santa’s total assets.  The return on T-bills is 4.4% and the expected return on the S&P 500 is 12.2%.  Should Santa buy the boat?

4.  New Coach Every Two Years Inc. (a company that brings in a new CEO to set up a completely new business plan every two years then fires the CEO just as all of the employees are beginning to figure out the new system) is a privately held company whose owner is planning to retire and sell the firm.  An investment banker has estimated that the present value of all future cash flows that the firm will generate is $3.5 million.  New Coach currently has an outstanding loan that calls for a $2 million lump sum payment five years from today.  The beta of the firm’s assets is 1.4, and the standard deviation of returns on the firm’s existing assets is 39%.  The return on Treasury strips by maturity are as follows:  1 year = 4.67%, 2 year = 4.69%, 3 year = 4.73%, 4 year = 4.76%, 5 year = 4.70%, 6 year = 4.85%, 10 year = 5.19%, 20 year = 5.62%, 30 year = 5.29%.  If we view the owner’s stock in the firm as an option on the firm’s assets, how much should the owner be able to sell the firm for?

5.  Suppose that K-State Rejects Bowl Bid Inc. has just announced that it intends to increase its dividend per share.  At the announcement, the price of K-State stock rose and the price of K-State’s outstanding bonds also rose.  Given our discussion this semester, what would account for these reactions?

6.  Assume that Moxxon Inc. has an expected return of 14%, a standard deviation of returns of 22%, and an asset beta of 0.8.  Assume also that Mobile Telephone Inc. has an expected return of 23%, a standard deviation of returns of 39%, and an asset beta of 1.4.  The correlation between Moxxon and Mobile Telephone is 0.48.  Assume also that the return on T-bills is 4.23%.

a.  Sketch the risk return possibilities available to you as an investor if you limit your investments to Moxxon, Mobile Telephone, and T-bills.

b.  Assume that Moxxon acquires Mobile Telephone to become Moxxon Tel.  After the merger Moxxon’s assets will represent 60% of the firm’s total assets and Mobile Telephone’s assets will represent 40% of the firm’s total assets.  On the same graph as “a”, sketch the risk return possibilities available to you as an investor if you limit your investments to the new combined company Moxxon Tel., and T-bills.

7.  Zorkmid Inc. uses the weighted average of the asset betas of its closest competitors as a proxy for the risk of new projects it is undertaking as a part of its capital budgeting process.  Under what conditions is this not the optimal approach?

8.  Why are better capital budgeting decisions made using the net present value rule rather than the payback period rule?

